
AMTAST USA INC AW003 

 

 

�D>D5EE<>=4?L=4O Wi-Fi <5F5>EF4=F<O AW003 

E F65F=O< 4<E??55< 

 

 

$G>>6>4EF6> ?> M>E??G4F4F<< 

 

 

 
 



 

 

 

2. 

 

%>45D64=<5 

1. �6545=<5 .................................................................................................................................................................. 3 
2. �5DO ?D54>EF>D>6=>EF<........................................................................................................................................ 3 
3. �OEFDO= 74?GE> ........................................................................................................................................................ 3 
4. �D5464D<F5?L=O5 <E?OF4=<O < >5E?54>64=<5 <5EF4 GEF4=>6>< ........................................................................ 3 

4.1 �D5464D<F5?L=O5 <E?OF4=<O ......................................................................................................................... 3 
4.2 �5E?54>64=<5 <5EF4 GEF4=>6>< ...................................................................................................................... 3 

5. 'EF4=>6>4 .................................................................................................................................................................. 4 
5.1 �><??5>F4F<O ................................................................................................................................................... 4 
5.2 %5>D>4 <=>7>DG=>F<>=4?L=>7> 44FG<>4 ....................................................................................................... 5 

5.2.1 'EF4=>6>4 D?N75D4 .................................................................................................................................. 5 
5.2.2 'EF4=>6>4 >?>D=>7> EF5D6=O .................................................................................................................. 6 
5.2.3 'EF4=>6>4 54F4D5= ................................................................................................................................... 8 
5.2.4 �>=F46 <5F5>EF4=F<< ............................................................................................................................ 9 
5.2.5 �=>?>4 ?5D5747DG7>< < E65F>4<>4=O= <=4<>4F>D ?5D544FG<>4 ....................................................... 12 

5.3 $5>><5=44F<< ?> =4EFD>=>5 55E?D>6>4=>= E6O7< ..................................................................................... 13 
5.4 �=D>D<4F<>==4O >>=E>?L ............................................................................................................................ 14 

6. $45>F4 E >>=E>?LN ................................................................................................................................................. 15 
6.1 ->D4==O= 4<E??5= ......................................................................................................................................... 15 
6.2 'EF4=>6>4 =4G4?L=OE ?4D4<5FD>6 >>=E>?< ................................................................................................. 16 

6.3 $G=>F<>=4?L=O5 >?46<L< ................................................................................................................................. 16 
6.4 $56<< =4EFD>=>< ........................................................................................................................................... 17 

6.4.1 �6G>>6>5 E>?D>6>645=<5 =464F<O >?46<L ........................................................................................ 17 
6.4.2 �4>E<<4?L=O5 < <<=<<4?L=O5 4=56=O5 7=4G5=<O .......................................................................... 18 
6.4.3 �5D5E>4 =4 ?5F=55 6D5<O (DST) ............................................................................................................ 18 
6.4.4 '4E>6>= ?>OE .......................................................................................................................................... 18 
6.4.5 �D5<O/44F4 ............................................................................................................................................. 18 
6.4.6 �F<>ED5D=>5 446?5=<5 ........................................................................................................................ 19 
6.4.7 �E65MU==>EFL ........................................................................................................................................ 19 
6.4.8 &5<?5D4FGD4 ........................................................................................................................................... 19 
6.4.9 %>>D>EFL 65FD4 ....................................................................................................................................... 20 
6.4.10 �>64L ................................................................................................................................................... 20 
6.4.11 �G==O5 D47O ........................................................................................................................................ 20 

6.5 $56<< >?>65M5=<O........................................................................................................................................ 21 
6.5.1 �F>5D465=<5 ?>D>7>6OE 7=4G5=<= ..................................................................................................... 21 
6.5.2 �4EFD>=>4 D56<<4 >?>65M5=<O .......................................................................................................... 21 
6.5.3 �>DO4>> =4EFD>=>< ?4D4<5FD>6 D56<<4 >?>65M5=<O ...................................................................... 22 

6.6 $56<< >F>5D465=<O <<=<<4?L=OE/<4>E<<4?L=OE 7=4G5=<=.................................................................. 22 
6.6.1 �46<<F5 MAX/MIN 4?O >F>5D465=<O <4>E<<G<>6 ........................................................................... 22 
6.6.2 �46<<F5 MAX/MIN 5MU D47 4?O >F>5D465=<O <<=<<G<>6 .............................................................. 23 

6.7 $56<< >4?<5D>6>< ......................................................................................................................................... 23 
6.7.1 �>DO4>> >4?<5D>6>< ?4D4<5FD>6 ........................................................................................................ 24 

6.8 �DG7<5 DG=>F<< .............................................................................................................................................. 24 
6.8.1 %5D>E ?4D4<5FD>6/?5D5747DG7>4 ......................................................................................................... 24 
6.8.2 �>4E65F>4 4<E??5O (=5?D5DO6=4O ?>4E65F>4 4<E??5O FD55G5F D45>FO E 444?F5D>< ?<F4=<O) ..... 24 
6.8.3 �=4<>4F<O FD5=4>6 <7<5=5=<O <7<5DO5<OE ?4D4<5FD>6 ................................................................ 24 
6.8.4 �=4<>4F>D GD>6=O 55E?D>6>4=>7> E<7=4?4 ........................................................................................ 24 
6.8.5 �D>7=>7 ?>7>4O: E>?=5G=>, ?5D5<5==4O >5?4G=>EFL, >5?4G=>, 4>64L, 65F5D < E=57 ..................... 25 
6.8.6 �?>65M5=<O ........................................................................................................................................... 26 

7. &5E=<G5E><5 E4D4>F5D<EF<>< ................................................................................................................................ 26 
8. �>4>?NG5=<5 <>5<?L=OE GEFD>=EF6 ?> Wi-Fi ..................................................................................................... 27 

 



 

 

 

3. 

1. �6545=<5 
�?47>44D<< �4E 74 ?>>G?>G 55E?D>6>4=>= Wi-Fi <5F5>EF4=F<< =4 E>?=5G=OE 54F4D5OE. �<65E?54GNM55 
DG>>6>4EF6> ?D<6>4<F ?>L47>6O5 <=EFDG>F<< ?> GEF4=>6>5, M>E??G4F4F<< < GEFD4=5=<N =5<E?D46=>EF5=. 

2. �5DO ?D54>EF>D>6=>EF< 

 �D54G?D5645=<5: �5F4??<G5E><5 ?D54<5FO (6>?NG4O >?>D=O= EF5D65=L 4?O >D5??5=<O �4L5= 
<5F5>EF4=F<<) =4E>4OFEO 6 7>=5 D<E>4 ?>D465=<O <>?=<5=. �5 GEF4=46?<64=F5 <5F5>EF4=F<N 6> 6D5<O 
7D>7O. 

 �D54G?D5645=<5: � ?D>F5EE5 GEF4=>6>< �4L5= <5F5>EF4=F<< =4 5>?LL>= 6OE>F5 �O D<E>G5F5 
?>?GG<FL FD46<G <?< =5E>6<5EF<<>5 E 6<7=LN G65GL5. �D>6>4<F5 6E5 ?5D6>=4G4?L=O5 ?D>65D>< < F5EF>6GN 
M>E??G4F4F<N =4 75<?5 < 6 ?><5M5=<<. �D<EFG?4=F5 > GEF4=>6>5 <5F5>EF4=F<< F>?L>> ?D< 5?47>?D<OF=>= 
EGE>= ?>7>45. 

3. �OEFDO= 74?GE> 
%>FO =4EF>OM55 DG>>6>4EF6> 6>?NG45F >?<E4=<5 6E5E =5>5E>4<<OE ?D>F54GD, 5>?LL4O 57> G4EFL ?>=OF=4 =4 
<=FG<F<6=>< GD>6=5. �D><5 F>7>, <7?>65=<5 <4F5D<4?4 44=> E D475<5=<5< ?> >><?>=5=F4< ?D<5>D4, GF> 
<>65F 74FDG4=<FL ?>=<<4=<5. 
�<65E?54GNM4O <=EFDG>F<O ?> 5OEFD><G ?GE>G ?D<6>4<F F>?L>> >E=>6=O5 L47< ?> GEF4=>6>5, M>E??G4F4F<< 
< ?>4>?NG5=<N > �=F5D=5FG �4L5= <5F5>EF4=F<<, 4 F4>65 EEO?>< =4 E>>F65FEF6GNM<5 D4745?O =4EF>OM57> 
DG>>6>4EF64. 

�5>5E>4<<O5 45=EF6<O 

,47 �?<E4=<5 $4745? 

1 %5>D < ?>44G4 ?<F4=<O =4 6O=>E=>= <=>7>DG=>F<>=4?L=O= 44FG<> 5.2.1 3 5.2.3 

2 �>44G4 ?<F4=<O =4 <=D>D<4F<>==GN >>=E>?L < 5U E<=ED>=<74F<O E 6O=>E=O< 44FG<>>< 5.3 

5 �>=F46 <=>7>DG=>F<>=4?L=>7> 44FG<>4 5.2.5 

3 'EF4=>6>4 44FO < 6D5<5=< =4 >>=E>?< 6.3.1 

4 �4?<5D>6>4 =>D<4?L=>7> 7=4G5=<O 446?5=<O 6 F5>GM<E GE?>6<OE 6OE>FO =44 GD>6=5< 
<>DO (<5EF=O= 4MD>?>DF) =4 >>=E>?< 

6.7 

6 �5=G?5=<5 >>?<G5EF64 >E44>>6 =4 >>=E>?< 6.4.10 

�>?>?=<F5?L=O5 (=5>5O74F5?L=O5) 45=EF6<O 

7 'EF4=>6>4 ?4D4<5FD>6 Wi-Fi-E>54<=5=<O 8 

8 $57<EFD4F<O < 747DG7>4 E5D65D4 ?>7>4O 8 

4. �D5464D<F5?L=O5 <E?OF4=<O < >5E?54>64=<5 <5EF4 GEF4=>6>< 

4.1 �D5464D<F5?L=O5 <E?OF4=<O 

�5D54 GEF4=>6>>= <5F5>EF4=F<< 6 F>G>5 ?>EF>O==>7> =45?N45=<O <O D5>><5=4G5< ?D>5=GN M>E??G4F4F<N 
6 F5G5=<5 =545?< 6 >4=>< <7 6D5<5==OE <5EF>D4E?>?>65=<=, >55E?5G<64NM<E ?D>EF>= 4>EFG?. -F> 
?>76>?<F �4< ?D>65EF< ?D>65D>G D45>FO 6E5E DG=>F<= ?D<5>D4 < G554<FLEO 6 57> =44?564M5= D45>F5, 4 
F4>65 >7=4>><<FLEO E M>E??G4F4F<>==O<< >E>55==>EFO<< < >4?<5D>6>G=O<< ?D>F54GD4<< <5F5>EF4=F<<. 
�D><5 F>7>, MF> ?>76>?<F �4< >?D545?<FL 7D4=<FO 7>=O ?>>DOF<O 55E?D>6>4=O< E<7=4?>< <5F5>EF4=F<<. 

4.2 �5E?54>64=<5 <5EF4 GEF4=>6>< 

�5D54 GEF4=>6>>= <5F5>EF4=F<< 6 F>G>5 ?>EF>O==>7> =45?N45=<O 6=<<4F5?L=> >5E?54G=F5 <5EF> 
GEF4=>6><. �D<<<F5 6> 6=<<4=<5 =<65E?54GNM55: 



 

 

 

4. 

1. �4< ?>FD55G5FEO ?D>6>4<FL >G<EF>G >E44>><5D4 D47 6 =5E>>?L>> <5EOF56 < 74<5=OFL 
4>>G<G?OF>D=O5 54F4D5< >464O5 2-3 7>44. '554<F5EL 6 =4?<G<< 55E?D5?OFEF65==>7> 4>EFG?4 > 
<5F5>EF4=F<<. 

2. �75574=F5 GEF4=>6>< 65?<7< ?N5OE <EF>G=<>>6 F5??4. �4> ?D46<?>, 6O=>E=>= 
<=>7>DG=>F<>=4?L=O= 44FG<> 4>?65= 5OFL GEF4=>6?5= =4 D4EEF>O=<< =5 <5=55 ?OF< DGF>6 
(?>?GF>D4 <5FD>6) >F ?N5OE 744=<=, M?5<5=F>6 <=DD4EFDG>FGDO, 75<?< <?< >DOL. 

3. �75574=F5 GEF4=>6>< 65?<7< ?N5OE >5N5>F>6, 74M<M4NM<E 44FG<> >F 4>64O < 65FD4. �5OG=> 
<=>7>DG=>F<>=4?L=O= 44FG<> GEF4=46?<645FEO =4 D4EEF>O=<<, =5 <5=55 G5< 6 G5FOD5 D474 
?D56OL4NM5< 6OE>FG 5?<64=L57> >5N5>F4, ?D5?OFEF6GNM57> 65FDG <?< 4>64N. �4?D<<5D, 5E?< 
6OE>F4 744=<O 20 DGF>6 (6 <), F> >?>D=O= EF5D65=L 6OE>F>= 6 DGF>6 (1 < 80 E<) GEF4=46?<64=F5 =4 
D4EEF>O=<< =5 <5=55 4 E (20 3 6) DGF>6 = 56 DGF>6 <?< 16 < 80 E<. 

4. �<4?47>= ?>>DOF<O 55E?D>6>4=O< E<7=4?><. $44<>E6O7L <564G ?5D544FG<>>< < ?D<U<=<>>< =4 
>F>DOF>< ?D>EFD4=EF65 (?D< >FEGFEF6<< =4 ?GF< D4E?D>EFD4=5=<O E<7=4?4 4><>6, 45D56L56, 
FD4=E?>DF=OE ED54EF6, ?<=<= M?5>FD>?5D544G<) <>65F 5OFL GEF4=>6?5=4 =4 D4EEF>O=<OE 4> 330 
DGF>6 (>>>?> 100 <). �5E?D>6>4=>= E<7=4? =5 ?D>=<>45F E>6>7L <5F4??<G5E><5 ?>65DE=>EF<. � 
5>?LL<=EF65 E?GG456 <4>E<<4?L=O= 4<4?47>= ?>>DOF<O 55E?D>6>4=>= E6O7LN =5 ?D56OL45F 100 

DGF>6 (33 <). 
5. �EF>G=<>< D44<>?><5E, F4><5 >4> ?5DE>=4?L=O5 >><?LNF5DO, D44<>- < F5?5?D<U<=<><, <>7GF 6 

=5>>F>DOE E?GG4OE ?>?=>EFLN 747?GL<FL 55E?D>6>4=>= E<7=4?. �>64?G=EF4, GG<FO64=F5 MF>F D4>F>D 
?D< 6O5>D5 <5EF4 <>=F464 <=D>D<4F<>==>= >>=E>?<. �> <75564=<5 ?><5E, G554<F5EL, GF> �4L4 
>>=E>?L D4E?>?>65=4 =4 D4EEF>O=<< =5 <5=55 ?OF< DGF>6 (1.5 <) >F ?N5OE M?5>FD>==OE ?D<5>D>6. 

5. 'EF4=>6>4 

5.1 �><??5>F4F<O 

�>?-6> �4<<5=>64=<5 

1 �=D>D<4F<>==4O >>=E>?L (547>6O= <>4G?L) 
1 �=>7>DG=>F<>=4?L=O= 44FG<> 4?O GEF4=>6>< 6=5 ?><5M5=<= (F5D<>-7<7D><5FD, >E44>><5D, 

4=5<><5FD, ?5D544FG<>) 
1 $?N75D 

1 �44?F5D ?>EF>O==>7> F>>4 5� 

1 �?>D=O= EF5D65=L 

1 %><GF E <>=F46=O<< 746<<4<< 

1 $G>>6>4EF6> ?> M>E??G4F4F<< 



 

 

 

5. 

5.2 %5>D>4 <=>7>DG=>F<>=4?L=>7> 44FG<>4 

 
$<EG=>> 1 

 

1. $?N75D 
2. �=5<><5FD 
3. %>?=5G=4O ?4=5?L 
4. �FE5> 4?O 54F4D5= 
5. %65F>4<>4=O= <=4<>4F>D: 6>?NG45FEO =4 4 E ?D< ?>44G5 ?<F4=<O, 74F5< <=4<>4F>D 6E?OE<645F 
>464O5 16 E5>G=4 (?5D<>4 ?5D544G< / >5=>6?5=<O 44==OE) 
6. �=>?>4 ?5D5747DG7>< 
7. &5D<>-7<7D><5FD 
8. '$-44FG<> 
9. �?F<G5E><= 44FG<> 
10. %5>D=<> >E44>>6 
11. �>4O=>= (?G7ODL>>6O=) GD>65=L 

5.2.1 'EF4=>6>4 D?N75D4 

%<. D<E. 2. 
(4) %>6<5EF<F5 =4?D46?ONM55 >F65DEF<5 D?N75D4 E 64?>< < =445=LF5 D?N75D =4 64?, (5) 7465D=<F5 
D<>E<DGNM<= 5>?F ?D<?4745<O< L5EF<7D4==O< >?NG><. 



 

 

 

6. 

 
   (4)      (5) 

$<EG=>> 2 

5.2.2 'EF4=>6>4 >?>D=>7> EF5D6=O 

%<. D<E. 3. �F6<=F<F5 (?D>F<6 G4E>6>= EFD5?><) >D5?U6=>5 >>?LF> >?>D=>7> EFD56=O. 

 
$<EG=>> 3 

%<. D<E. 4. �OD>6=O=F5 =4?D46?ONMGN < ?47 <=>7>DG=>F<>=4?L=>7> 44FG<>4 < >?>D=>7> EF5D6=O. 

 



 

 

 

7. 

 
$<EG=>> 4 

%<. D<E. 5. �4D<>E<DG=F5 E>54<=5=<5 >?>D=>7> EF5D6=O < 44FG<>4, 7465D=G6 >D5?U6=>5 >>?LF> ?> G4E>6>= 
EFD5?>5. 



 

 

 

8. 

 
$<EG=>> 5 

 

 

5.2.3 'EF4=>6>4 54F4D5= 

%<. D<E. 6. �DOL>4 54F4D5==>7> >FE5>4 D4E?>?>65=4 =4 =<6=5= ?>65DE=>EF< <=>7>DG=>F<>=4?L=>7> 
44FG<>4. �F6<=F<F5 (?D>F<6 G4E>6>= EFD5?><) D<>E<DGNM<= 6<=F >DOL>< 54F4D5==>7> >FE5>4. �EF46LF5 3 
?5D574DO645<OE M?5<5=F4 ?<F4=<O �� (6E>4OF 6 >><??5>F4F<N). %65F>4<>4=O= <=4<>4F>D 6>?NG<FEO =4 4 
E5>G=4O, 4 74F5< 5G45F 6E?OE<64FL >464O5 16 E5>G=4 (?5D<>4 ?5D544G</>5=>6?5=<O 44==OE). �4>D>=F5 
>DOL>G 54F4D5==>7> >FE5>4 < 7465D=<F5 D<>E<DGNM<= 6<=F. 



 

 

 

9. 

 
$<EG=>> 6 

5.2.4 �>=F46 <5F5>EF4=F<< 

�>=F46 <5F5>EF4=F<< <>6=> >EGM5EF6<FL 46G<O <5F>44<<. 
�. �5F>4 1. �>=F46=O5 746<<O. �D<>D5?<F5 >?>D=O= EF5D65=L <5F5>EF4=F<< > <4GF5 <?< >D>=LF5==G 
(?D<>5D5F45FEO 4>?>?=<F5?L=>) E ?><>MLN 46GE E><GF>6, 746<<>6 < 745>, >4> ?>>474=> =4 D<EG=>5 7. 
�4D<>E<DG=F5 <4GFG < >?>D=O= EF5D65=L E ?><>MLN >D5?U6=OE 745> E><GF4. '554<F5EL, GF> <4GF4 
<4>E<<4?L=> G44?5=4 >F F5D<>44FG<>4 (E<. D<E. 7). 



 

 

 

10. 

 
$<EG=>> 7 

U-bolt nut 3 >D5?U6=4O 74=>4 E><GF4 

U-bolt 3 E><GF 

Pole mounting 3 746<< <4GFO 

Weather station pole 3 >?>D=O= EF5D65=L 

Maximize distance between pole and temperature shield - '554<F5EL, GF> <4GF4 <4>E<<4?L=> G44?5=4 >F 

F5D<>44FG<>4. 

 

�. �5F>4 2. �56<<=>5 E>54<=5=<5. �EF46LF5 >564FO= >>=5F >?>D=>7> EF5D6=O 6 ?>E44>G=>5 >F65DEF<5 
?N5>7> EF4=44DF=>7> <>=F46=>7> D5L5=<O 4?O D<>E4F<< =4 <4GF5 E 4<4<5FD>< 1 3/8 4N=<4, >4> ?>>474=> 
=4 D<E. 8. 



 

 

 

11. 

 
$<EG=>> 8 

1. %<. D<E. 9. �4=4<F5 <5F>< =4?D46?5=<= =4 E565D (N), 6>EF>> (�), N7 (S) < 74?44 (W). $4765D=<F5 ?D<5>D E 
?><>MLN >><?4E4 <?< GPS F4>, GF>5O <5F>< =4?D46?5=<= E>6?4?< E =4?D46?5=<O<< =4 E565D, 6>EF>>, N7 < 
74?44, E>>F65FEF65==>. 



 

 

 

12. 

 
$<EG=>> 9 

 

2. %<. D<E. 10. % ?><>MLN ?G7ODL>>6>7> GD>6=O G554<F5EL 6 F><, GF> ?D<5>D GEF4=>6?5= 7>D<7>=F4?L=> (6 
?D>F<6=>< E?GG45 ?>>474=<O >E44>><5D4 5G4GF =565D=O<<). 
 

 
$<EG=>> 10 

 

5.2.5 �=>?>4 ?5D5747DG7>< < E65F>4<>4=O= <=4<>4F>D ?5D544FG<>4 

�E?< 6O=>E=>= <=>7>DG=>F<>=4?L=O= 44FG<> =5 <7?GG45F E<7=4?, =46<<F5 >=>?>G RESET (?5D5747DG7>4). 
% ?><>MLN D47>7=GF>= E>D5?>< =46<<F5 < G45D6<64=F5 RESET 6 F5G5=<5 FDUE E5>G=4 4?O ?>?=>7> E5D>E4 
=4?DO65=<O. 
'44?<F5 54F4D5< <7 >FE5>4 ?<F4=<O < >6<44=F5 6 F5G5=<5 >4=>= <<=GFO, ?D<>DO6 E>?=5G=GN ?4=5?L DG>>=, 
4?O G44?5=<O >EF4F>G=>7> =4?DO65=<O. 
�EF46LF5 54F4D5< 6 >FE5> ?<F4=<O < 74=>6> E<=ED>=<7<DG=F5 >>=E>?L < <=>7>DG=>F<>=4?L=O= 44FG<>, 
6O>?NG<6 < 6>?NG<6 >>=E>?L =4 D4EEF>O=<< >>>?> 10 DGF>6 (3 <). 



 

 

 

13. 

 
$<EG=>> 11 

LED 3 <=4<>4F>D 

RESET BUTTON 3 >?46<L4 «?5D5747DG7><» 

 

5.3 $5>><5=44F<< ?> =4EFD>=>5 55E?D>6>4=>= E6O7< 

 �D<<5G4=<5: �?O GEF4=>6?5=<O =44?564M<< >5D47>< DG=>F<>=<DGNM57> E>54<=5=<O 
74D<>E<DG=F5 ?5D544FG<> =4 7>D<7>=F4?L=>= ?>65DE=>EF< (=4?D<<5D, EF5=5). �5 >?44<F5 44FG<> 
<7?GG4F5?5< 6=<7 =4 7>D<7>=F4?L=GN ?>65DE=>EFL. 
�5E?D>6>4=>5 E>54<=5=<5 GG6EF6<F5?L=> > D44<>?><5E4<, D4EEF>O=<N <EF>G=<> 3 ?D<U<=<>, EF5=4< < 
<5F4??<G5E><< >>=EFDG>F<O< =4 ?GF< D44<>E<7=4?4. �?O GEF4=>6?5=<O =44U6=>= E6O7< <O D5>><5=4G5< 
E?54GNM55: 
1. -?5>FD><47=<F=>5 <7?GG5=<5 (-��). �5D6<F5 >>=E>?L 6 =5E>>?L><E DGF4E >F <>=<F>D>6 < F5?56<7>D>6. 
2. �>F<6=O5 D44<>?><5E<. �E?< 6O <E?>?L7G5F5 4DG7<5 GEFD>=EF64 E D45>G5= G4EF>F>= 433 ��F < E6O7L 
=5GEF>=G<64, F> 4?O GEFD4=5=<O =5<E?D46=>EF5= ?>?D>5G=F5 >F>?NG<FL MF< GEFD>=EF64. �>7<>6=>, �4< 
?>=44>5<FEO ?5D5=5EF< <EF>G=<>< <?< ?D<U<=<>< MF>7> <7?GG5=<O 4?O >55E?5G5=<O GEF>=G<6>= E6O7<. 
3. �>=4 ?>>DOF<O. �<4?47>= ?>>DOF<O D44<>E<7=4?>< >F <5F5>EF4=F<< 6 GE?>6<OE >FEGFEF6<O ?><5E, 
<7>?OF<< <?< EF5=, GEF4=>6?5= D46=O< FDU<EF4< DGF4< (100 <), >4=4>> =4 ?D4>F<>5 6 D54?L=OE GE?>6<OE E 
=4?<G<5< ?D5?OFEF6<= <4>E<<4?L=>5 ?>>DOF<5 E>EF46?O5F 100 DGF>6 (30 <). 
4. �5F4??<G5E><5 747D4645=<O. $44<>E<7=4? =5 ?D>=<>45F E>6>7L <5F4??<G5E><5 54DL5DO (=4?D<<5D, 
4?N<<=<56GN >5<6>G). �E?< 6O <E?>?L7G5F5 <5F4??<G5E><= E4=4<=7, D4E?>?>6<F5 ?5D544FG<> < >>=E>?L 
F4><< >5D47><, GF>5O >=< =4E>4<?<EL =4 ?<=<< ?DO<>= 6<4<<>EF<. 
�<65E?54GNM4O F45?<F4 ?D<6>4<F 746<E<<>EFL ?>F5D< D44<>E<7=4?4 >F ED54O D4E?D>EFD4=5=<O. �4644O 
«?><5E4» <7 ?D<654U==>= F45?<FO E=<645F 4<4?47>= ?>>DOF<O =4 G>474==GN 6 ?D46>= >>?>=>5 65?<G<=G. 
 



 

 

 

14. 

%D544 %=<65=<5 E<7=4?4 

%F5>?> (=574>4?U==>5) 5-15% 

�?4EF<> 10-15% 

�5D56> 10-40% 

�<D?<G 10-40% 

�5F>= 40-80% 

�5F4??O 90-100% 

 

5.4 �=D>D<4F<>==4O >>=E>?L 

 
 

1. �EF46LF5 444?F5D ?>EF>O==>7> =4 5� E >5D4F=>= EF>D>=O >>=E>?<. 
�D<<5G4=<5: D4E?>?>6<F5 <=>7>DG=>F<>=4?L=O= 44FG<> =4 G44?5=<< 5 3 10 DGF>6 (1.5 3 3 <) >F >>=E>?< < 
>6<44=F5 6 F5G5=<5 =5E>>?L><E <<=GF 4> ?>?=>= E<=ED>=<74F<< >>=E>?< < 44FG<>4. 
2. �EF46LF5 3 54F4D5=>< ��� 6 >>=E>?L (4>?>?=<F5?L=4O >?F<O). 
3. �55E?5GLF5 15 <<=GF E>6<5EF=>= D45>FO 44FG<>4 < >>=E>?< 4?O 4>EF<65=<O GEF4=>6<6L<EEO 7=4G5=<= 
<7<5DO5<OE 65?<G<=. 
4. (�>?>?=<F5?L=4O >?F<O). $4E>DGF<F5 G4L>< 4=5<><5FD4, GF>5O E>744FL 46<65=<5 6>74GE4 (65F5D). 
�4?5=F5 =5<=>7> 6>4O 6 ?D<U<=GN ?>?>EFL >E44>><5D4 4?O <<<F4F<< 4>64O. 
5. '5D57 15 <<=GF E?54G=F5 <=EFDG>F<O< ?> <>=F46G 4?O =44?564M57> D47<5M5=<O 44FG<>>6. 



 

 

 

15. 

 
 

�D<<5G4=<5: �>>474=<O 4>?6=O >FD464FLEO 6> 6E5E E5>F<OE 4<E??5O. �=4G5=<O 6 E5>F<OE «�5F5D» < 
«�>64L» 4>?6=O ?>>47O64FL =G?< 4> ?>O6?5=<O/<<<F4F<< 65FD4 <?< 4>64O. 
�D<<5G4=<5: �E?< >>=E>?L D45>F45F >F M?5<5=F>6 ?<F4=<O, F> ?5D54 =464F<5< DG=>F<>=4?L=OE E5=E>D=OE 
>?46<L =5>5E>4<<> =464FL LIGHT/SNOOZE 4?O ?>4E65F>< 4<E??5O. 

6. $45>F4 E >>=E>?LN 

6.1 ->D4==O= 4<E??5= 

 



 

 

 

16. 

 

1. �D5<O 10. �E44>< 

2. $474 �G=O 11. �4DG6=4O F5<?5D4FGD4 

3. �F<>ED5D=>5 446?5=<5 12. �4DG6=4O 6?46=>EFL 

4. �D>7=>7 ?>7>4O 13. �<>F>7D4<<4 GD>6=O 55E?D>6>4=>7> E<7=4?4  
5. '$-<=45>E 14. �?46=>EFL 6 ?><5M5=<< 

6. �E65MU==>EFL 15. &5<?5D4FGD4 6 ?><5M5=<< 

7. %>>D>EFL 65FD4 16. �4F4 

8. �4?D46?5=<5 65FD4 17. �<>F>7D4<<4 Wi-Fi 

9. �=56=O5 <4>E<<G<O/<<=<<G<O 18. DST (?5F=55 6D5<O) 

6.2 'EF4=>6>4 =4G4?L=OE ?4D4<5FD>6 >>=E>?< 

�>4>?NG<F5 444?F5D, GF>5O ?>44FL ?<F4=<5 =4 <=D>D<4F<>==GN >>=E>?L. 
%?GEFO 2 E5>G=4O ?>E?5 ?>44G< ?<F4=<O >>=E>?L >F>5D4645F F5>GMGN 65DE<N ?D>7D4<<=>7> >55E?5G5=<O. 

 
�>E?5 ?>44G< ?<F4=<O, >>=E>?L =4 3 E5>G=4O ?>4E65G<645F 6E5 ?>?O <=D>D<4F<>==OE E5>F<= 4<E??5O, < 
?D<5>D =4G<=45F E5>D 44==OE E 6=5L=57> >4=4?4 4?<F5?L=>EFLN 3 <<=GFO. 

 

6.3 $G=>F<>=4?L=O5 >?46<L< 
�>=E>?L <<55F 6>E5<L E5=E>D=OE >?46<L, >55E?5G<64NM<E ?D>EF>5 G?D46?5=<5 ?D<5>D><. 

 
 

�?46<L4 �?<E4=<5 

SET �46<<F5 < G45D6<64=F5 MFG >?46<LG, GF>5O 6>=F< 6 D56<< =4EFD>=><. 

TEMP. �46<<F5 MFG >?46<LG, GF>5O ?>E<>FD5FL <=45>E F5<?5D4FGDO ?> >MGM5=<O<, <=45>E 
64DO, F>G>G D>EO. 



 

 

 

17. 

�46<<F5 < G45D6<64=F5 MFG >?46<LG 6 F5G5=<5 5 E, GF>5O 74D57<EFD<D>64FL =>6O= 
?5D544FG<>. 

RAIN �46<<F5 MFG >?46<LG, GF>5O ?>E<>FD5FL F5>GM<= EF4FGE < >>?<G5EF6> 4F<>ED5D=OE 
>E44>>6, 4 F4>65 >E44>< 74 45=L, =545?N, <5EOF < >5M55 >>?<G5EF6> >E44>>6 E =4G4?4 
=45?N45=<=. 

�46<<F5 < G45D6<64=F5 MFG >?46<LG 6 F5G5=<5 2 E, GF>5O E5D>E<FL =4>>??5==GN 
<=D>D<4F<N >5 >E44>4E. 

WIND+ �46<<F5 MFG >?46<LG, GF>5O ?>E<>FD5FL E>>D>EFL 65FD4/?>DO6>6 < 57> =4?D46?5=<5. 

PRESSURE- �46<<F5 MFG >?46<LG, GF>5O ?>E<>FD5FL 4F<>ED5D=>5 446?5=<5, 4 F4>65 ED54=55 74 
?>E?54=<5 12, 24, 48 < 72 G4E4. 

�46<<F5 < G45D6<64=F5 MFG >?46<LG 6 F5G5=<5 2 E, GF>5O ?>E<>FD5FL 45E>?NF=>5 < 
>F=>E<F5?L=>5 446?5=<5. 

ALARM �46<<F5 MFG >?46<LG, GF>5O ?>E<>FD5FL GEF4=>6?5==>5 ?>D>7>6>5 7=4G5=<5 
F5<?5D4FGDO/6?46=>EF</>>?<G5EF64 >E44>>6/>>?<G5EF64 >E44>>6 74 45=L/E>>D>EF< 65FD4 
4?O 6O44G< E<7=4?4 FD56>7<. 

MAX/MIN �46<<F5 MFG >?46<LG, GF>5O ?>E<>FD5FL <4>E<<4?L=>5/<<=<<4?L=>5 7=4G5=<5 
F5<?5D4FGDO/6?46=>EF</>>?<G5EF64 >E44>>6/>>?<G5EF64 >E44>>6 74 45=L/E>>D>EF< 
65FD4/'$-<=45>E4/>E65MU==>EF</45E>?NF=>7> 446?5=<O. 

LIGHT/SNOOZE �46<<F5 MFG >?46<LG, GF>5O >FD57G?<D>64FL OD>>EFL ��-4<E??5O HI/MID/OFF 

(�OE>>4O/%D54=OO/�O>?). 
�D<<5G4=<O: 
1. �D< 6>?NG5==>< ?<F4=<< =464F<5 >?46<L< SET ?>76>?O5F ?5D5747DG7<FL <5F5>EF4=F<N, >G<EF<FL 6E5 
74?<E< 6 ?4<OF< ?D<5>D4 < E5D>E<FL 6E5 ?>?L7>64F5?LE><5 =4EFD>=><, GEF4=>6<6 ?4D4<5FDO, 7444==O5 ?> 
G<>?G4=<N. 
2. �D< 6>?NG5==>< ?<F4=<< =464F<5 >?46<L< TEMP. ?>76>?O5F >F>474FLEO >F ?>?GG5=<O 44==OE ?> 
D44<>>4=4?G. 
3. � D56<<5 =4EFD>=>< =464F<5 >?46<L WIND+ <?< PRESSURE- ?>76>?O5F 6O5<D4FL 54<=<FO <7<5D5=<O <?< 
>4=> <7 ?D54GEF4=>6?5==OE 7=4G5=<= ?>?O; 5E?< >?46<L4 WIND+ <?< PRESSURE- =464F4 < G45D6<645FEO 6 
F5G5=<5 2 E5>G=4, 7=4G5=<O 6O5D4==>7> ?>?O G65?<G<64NFEO/G<5=LL4NFEO E 5>?LL<< L47><. 
4. �OE>4 <7 D56<<4 =4EFD>=>< >EGM5EF6?O5FEO 6 ?N5>= <><5=F ?>ED54EF6>< =464F<O >?46<L< 
LIGHT/SNOOZE, <?< ?> <EF5G5=<< 30 E5>G=4 ?D< >FEGFEF6<< 4>F<6=>EF<. 

6.4 $56<< =4EFD>=>< 

�46<<F5 < G45D6<64=F5 >?46<LG SET 6 F5G5=<5 2 E5>G=4, GF>5O 6>=F< 6 D56<< =4EFD>=><. �E=>6=O5 
=4EFD>=>< 6 �4L5= <>45?< 7444NFEO 6 E?54GNM5< ?>DO4>5: 

6.4.1 �6G>>6>5 E>?D>6>645=<5 =464F<O >?46<L 

 
�46<<F5 < G45D6<64=F5 >?46<LG SET 6 F5G5=<5 2 E5>G=4, GF>5O 6>=F< 6 D56<< =4EFD>=>< 76G>>6>7> 
E>?D>6>645=<O =464F<O >?46<L, 6 >>F>D>< <<745F ?>?5 ON/OFF. �464F<5 >?46<L WIND+ <?< PRESSURE- 

?>76>?O5F 6>?NG<FL (ON) <?< 6O>?NG<FL (OFF) 76G>>6>5 E>?D>6>645=<5. �D< GEF4=>6?5==>< 7=4G5=<< BEEP 

ON, >464>5 =464F<5 E5=E>D=>= >?46<L< 5G45F E>?D>6>644FLEO >>D>F><< 76G>>6O< E<7=4?><. �D< 
GEF4=>6?5==>< 7=4G5=<< BEEP OFF, =464F<5 >?46<L =5 5G45F E>?D>6>644FLEO 76G>>6O<< E<7=4?4<<. 



 

 

 

18. 

6.4.2 �4>E<<4?L=O5 < <<=<<4?L=O5 4=56=O5 7=4G5=<O 

 
�46<<F5 >?46<LG SET 6F>D>= D47, GF>5O ?5D5=F< 6 E5>F<N =4EFD>=>< <<=<<4?L=OE < <<=<<4?L=OE 
4=56=OE 7=4G5=<= (MAX/NIN Daily) E <<74NM<< ?>?5< ON/OFF. % ?><>MLN >?46<L WIND+ <?< PRESSURE- 

6O55D<F5 ON (6>?NG<FL) <?< OFF (6O>?NG<FL). �=4G5=<5 ?> G<>?G4=<N ON, E5D4EO645FEO 6 00:00. 

6.4.3 �5D5E>4 =4 ?5F=55 6D5<O (DST) 

 
�46<<F5 >?46<LG SET FD5F<= D47, GF>5O ?5D5=F< 6 E5>F<N =4EFD>=>< 46F><4F<G5E>>7> ?5D5E>44 =4 ?5F=55 
6D5<O E <<74NM<< ?>?5< ON/OFF. % ?><>MLN >?46<L WIND+ <?< PRESSURE- 6O55D<F5 ON (6>?NG<FL) <?< 

OFF (6O>?NG<FL). �=4G5=<5 ?> G<>?G4=<N: ON. �?F<O 4>EFG?=4 F>?L>> ?D< <E?>?L7>64=<< D>D<4F4 
?5D544G< E<7=4?4 6D5<5=< WWVB (%,� < �4=444). 

6.4.4 '4E>6>= ?>OE 

 
�46<<F5 >?46<LG SET G5F6UDFO= D47, GF>5O ?5D5=F< 6 E5>F<N =4EFD>=>< G4E>6>7> ?>OE4 E <<74NM<< ?>?5< 
G4E>6>7> ?>OE4. % ?><>MLN >?46<L WIND+ <?< PRESSURE- 6O55D<F5 7=4G5=<5 4?O 64L57> G4E>6>7> ?>OE4 
(4>EFG?=O 7=4G5=<O >F -12 4> +12, ?> G<>?G4=<N: -5 G4E>6). 

6.4.5 �D5<O/44F4 

 
- �46<<F5 >?46<LG SET ?OFO= D47, GF>5O GEF4=>6<FL 12- <?< 24-G4E>6>= D>D<4F >F>5D465=<O 6D5<5=< (?> 
G<>?G4=<N: 24-G4E>6>= D>D<4F) 



 

 

 

19. 

- �46<<F5 >?46<LG SET L5EF>= D47, GF>5O GEF4=>6<FL 7=4G5=<O ?>?O «G4E» 

- �46<<F5 >?46<LG SET E54L<>= D47, GF>5O GEF4=>6<FL 7=4G5=<O ?>?O «<<=GF4» 

- �46<<F5 >?46<LG SET 6>EL<>= D47, GF>5O GEF4=>6<FL D>D<4F >F>5D465=<O 44FO ��-�� <?< ��-�� (?> 
G<>?G4=<N: ��-��) 
- �46<<F5 >?46<LG SET 456OFO= D47, GF>5O GEF4=>6<FL 7=4G5=<O ?>?O «7>4» 

- �46<<F5 >?46<LG SET 45EOFO= D47, GF>5O GEF4=>6<FL 7=4G5=<O ?>?O «<5EOF» 

- �46<<F5 >?46<LG SET >4<==44F4FO= D47, GF>5O GEF4=>6<FL 7=4G5=<O ?>?O «45=L» 

�D<<5G4=<5: �>E?>?L7G=F5EL >?46<L4<< WIND+ <?< PRESSURE- 4?O 6O5>D4 =G6=>7> 7=4G5=<O. 
�D<<5G4=<5: �D< GEF4=>6>5 <<=GF, E5>G=4O 46F><4F<G5E>< >5=G?ONFEO. 

6.4.6 �F<>ED5D=>5 446?5=<5 

 
- �46<<F5 >?46<LG SET 465=44F4FO= D47, GF>5O GEF4=>6<FL 54<=<FO <7<5D5=<O 4F<>ED5D=>7> 446?5=<O 

(7�4 (hpa), <<.DF.EF (mmhg) <?< 4N=<O DF.EF (inhg); ?> G<>?G4=<N: 7�4) 

- �46<<F5 >?46<LG SET FD<=44F4FO= D47, GF>5O GEF4=>6<FL >F=>E<F5?L=>5 446?5=<5 

�D<<5G4=<5: �>E?>?L7G=F5EL >?46<L4<< WIND+ <?< PRESSURE- 4?O 6O5>D4 =G6=>7> 7=4G5=<O. 
�D<<5G4=<5: � =>D<4?L=>< D56<<5 =46<<F5 < >F?GEF<F5 >?46<LG PRESSURE-, GF>5O ?>E<>FD5FL ED54=55 
7=4G5=<5 446?5=<O 74 12, 24, 48 < 72 G4E4. �46<<F5 < G45D6<64=F5 6 F5G5=<5 2 E5>G=4 >?46<LG PRESSURE-, 

GF>5O ?>E<>FD5FL 45E>?NF=>5 < >F=>E<F5?L=>5 446?5=<5. 

6.4.7 �E65MU==>EFL 

 
- �46<<F5 >?46<LG SET G5FOD=44F4FO= D47, GF>5O GEF4=>6<FL 54<=<FO <7<5D5=<O >E65MU==>EF< (?N>E 

(lux), DGF->4=45?4 (fc) <?< �F/<2
 (w/m2); ?> G<>?G4=<N: �F/<2

) 

6.4.8 &5<?5D4FGD4 

 
- �46<<F5 >?46<LG SET ?OF=44F4FO= D47, GF>5O GEF4=>6<FL 54<=<FO <7<5D5=<O F5<?5D4FGDO (7D44GEO 
&5?LE<O (C) <?< $4D5=75=F4 (F); ?> G<>?G4=<N: 7D44GEO &5?LE<O (%)) 
- � =>D<4?L=>< D56<<5 =46<<F5 >?46<LG TEMP., GF>5O ?>E<>FD5FL <=45>E F5<?5D4FGDO ?> >MGM5=<O<, 

<=45>E 64DO, F>G>G D>EO. �46<<F5 < G45D6<64=F5 MFG >?46<LG 6 F5G5=<5 5 E, GF>5O 74D57<EFD<D>64FL =>6O= 
?5D544FG<>. 

�D<<5G4=<5: �464O5 60 E5>G=4 ?D<5>D <7<5DO5F F5<?5D4FGDG 6>74GE4, 6?46=>EFL < 446?5=<5 6 
?><5M5=<<. �E?< <7<5D5==>5 7=4G5=<5 =<65 4>?GEF<<>= <<=<<4?L=>=, <?< 6OL5 4>?GEF<<>= 
<4>E<<4?L=>= D45>G5= F5<?5D4FGDO, F> =4 4<E??55 >F>5D4645FEO --:-. 



 

 

 

20. 

6.4.9 %>>D>EFL 65FD4 

 
- �46<<F5 >?46<LG SET L5EF=44F4FO= D47, GF>5O GEF4=>6<FL 54<=<FO <7<5D5=<O E>>D>EF< 65FD4 (></G 

(km/h), <<?</G (mph), G7?O (knots), </E (m/s), 6 54??4E ?> L>4?5 �>D>DF4 (bft); ?> G<>?G4=<N: ></G) 

- � =>D<4?L=>< D56<<5 =46<<F5 >?46<LG TEMP., GF>5O ?>E<>FD5FL E>>D>EFL 65FD4, ?>DO6>6 65FD4 < 57> 
=4?D46?5=<5. 

6.4.10 �>64L 

 
- �46<<F5 >?46<LG SET E5<=44F4FO= D47, GF>5O GEF4=>6<FL 54<=<FO <7<5D5=<O >>?<G5EF64 >E44>>6 

4N=<O/<< (in/mm); ?> G<>?G4=<N: <<. 
- � =>D<4?L=>< D56<<5 =46<<F5 >?46<LG RAIN, GF>5O ?>E<>FD5FL F5>GM<= EF4FGE < >>?<G5EF6> 
4F<>ED5D=OE >E44>>6, 4 F4>65 >E44>< 74 45=L, =545?N, <5EOF < >5M55 >>?<G5EF6>. 

- �46<<F5 < G45D6<64=F5 MFG >?46<LG 6 F5G5=<5 2 E, GF>5O E5D>E<FL =4>>??5==GN <=D>D<4F<N >5 >E44>4E. 

�D<<5G4=<5: 
%5D>E 44==OE >5 >E44>4E 74 =545?N 46F><4F<G5E>< >5=G?O5F 5654=56=O5 44==O5. 
%5D>E 44==OE >5 >E44>4E 74 <5EOF 46F><4F<G5E>< >5=G?O5F 5654=56=O5 < 565=545?L=O5 44==O5. 

%5D>E 44==OE >5 >5M5< >>?<G5EF65 >E44>>6 74 ?5D<>4 =45?N45=<O 46F><4F<G5E>< >5=G?O5F 5654=56=O5, 
565=545?L=O5 < <5EOG=O5 44==O5. 

�D<<5G4=<5: 
 �>?<G5EF6> >E44>>6 >F5=<645FEO >4> >>?<G5EF6> 6O?46L<E >E44>>6 74 ?>E?54=<5 10 <<=, G<=>65==>5 =4 
6. 

%F4FGE «<4UF 4>64L» GEF4=46?<645FEO ?D< ?>O6?5=<< 4F<>ED5D=OE >E44>>6, EF4FGE «4>64L 74>>=G<?EO» 
GEF4=46?<645FEO ?D< >>?<G5EF65 >E44>>6 <5=55 10 << <?< E<5=5 44FO (6 00:00). 
�=56=>5 >>?<G5EF6> >E44>>6 >?D545?O5FEO ?> EGF>G=><G >5NU<G, 6O?46L5<G 6 F5G5=<5 4=O (00:00 3 

24:00). 

�545?L=>5 >>?<G5EF6> >E44>>6 >?D545?O5FEO ?> >5NU<G, 6O?46L5<G 6 F5G5=<5 =545?< (=4?D<<5D, E 
6>E>D5E5=LO ?> EG55>FG). 

�5EOG=>5 >>?<G5EF6> >E44>>6 >?D545?O5FEO ?> >5NU<G, 6O?46L5<G 6 F5G5=<5 >4?5=44D=>7> <5EOF4 
(=4?D<<5D, E 1 ?> 31 O=64DO). 
�5M55 >>?<G5EF6> >E44>>6 >?D545?O5FEO ?> >5NU<G, 6O?46L5<G E <><5=F4 =4G4?4 =45?N45=<= 
(?>E?54=57> ?>4>?NG5=<O ?<F4=<O). 

�D<<5G4=<5: 44FG<> >F?D46?O5F <7<5D5=<O E>>D>EF< < =4?D46?5=<O 65FD4, < >>?<G5EF64 >E44>>6 >464O5 16 
E5>G=4. 

6.4.11 �G==O5 D47O 

 



 

 

 

21. 

- �46<<F5 >?46<LG SET 6>E5<=44F4FO= D47, GF>5O =4EFD><FL >F>5D465=<5 ?G==OE D47 6 %565D=>< (NTH) 

<?< .6=>< (STH) ?>?GL4D<OE. 

6.5 $56<< >?>65M5=<O 

6.5.1 �F>5D465=<5 ?>D>7>6OE 7=4G5=<= 

1) �46<<F5 < >F?GEF<F5 >?46<LG ALARM, GF>5O >F>5D47<FL 65DE=<5 ?>D>7>6O5 7=4G5=<O: 

 
 

1) �46<<F5 >?46<LG ALARM 5MU D47, GF>5O >F>5D47<FL =<6=<5 ?>D>7>6O5 7=4G5=<O: 

 
�D<<5G4=<5: 
- �46<<F5 RAIN, GF>5O 6O5D4FL 4?O >F>5D465=<O >>?<G5EF6> <?< 4=56=GN =>D<G >E44>>6.  
- �46<<F5 >?46<LG WIND+, GF>5O 6O5D4FL 4?O >F>5D465=<O E>>D>EFL 65FD4 <?< ?>DO6>6. 
- �46<<F5 >?46<LG ALARM FD5F<= D47 <?< =46<<F5 LIGHT/SNOOZE 4?O 6>76D4F4 6 =>D<4?L=O= D56<<. 

6.5.2 �4EFD>=>4 D56<<4 >?>65M5=<O 

1) �46<<F5 < G45D6<64=F5 6 F5G5=<5 2 E5>G=4 >?46<LG ALARM, GF>5O 6>=F< 6 D56<< =4EFD>=>< 
>?>65M5=<=. 
2) �>E?>?L7G=F5EL >?46<L4<< WIND+ <?< PRESSURE- 4?O ?>4>?NG5=<O/>F>?NG5=<O E<7=4?>6 FD56>7< < <E 
7=4G5=<=. 
3) �46<<F5 >?46<LG SET 4?O ?>4F65D645=<O < ?5D5E>44 > =4EFD>=>5 E?54GNM57> ?4D4<5FD4. 
4) �46<<F5 ALARM 4?O ?>4>?NG5=<O/>F>?NG5=<O >>=FD>?O 6O5D4==>7> ?4D4<5FD4. 



 

 

 

22. 

�D<<5G4=<5: ?D< ED454FO64=<< FD56>6=>= <=4<>4F<< 5G4GF <<74FL <>>=>< <EF>G=<>4 FD56>7<  E> 

6D5<5=5<, <4>E<<4?L=O<  < <<=<<4?L=O<  7=4G5=<O<<. 
�D<<5G4=<5: �46<<F5 >?46<LG ALARM FD5F<= D47 <?< =46<<F5 LIGHT/SNOOZE 4?O 6>76D4F4 6 =>D<4?L=O= 
D56<<. 

6.5.3 �>DO4>> =4EFD>=>< ?4D4<5FD>6 D56<<4 >?>65M5=<O 

1) �D5<O 

2) �4>E<<4?L=4O F5<?5D4FGD4 6 ?><5M5=<< 

3) �<=<<4?L=4O F5<?5D4FGD4 6 ?><5M5=<< 

4) �4>E<<4?L=4O 6?46=>EFL 6 ?><5M5=<< 

5) �<=<<4?L=4O 6?46=>EFL 6 ?><5M5=<< 

6) �4>E<<4?L=4O =4DG6=4O F5<?5D4FGD4 

7) �<=<<4?L=4O =4DG6=4O F5<?5D4FGD4 

8) �4>E<<4?L=4O =4DG6=4O 6?46=>EFL 

9) �<=<<4?L=4O =4DG6=4O 6?46=>EFL 

10) �4>E<<4?L=4O E>>D>EFL 65FD4 

11) �4>E<<4?L=4O E>>D>EFL ?>DO6>6 65FD4 

12) �4>E<<4?L=>5 >>?<G5EF6> >E44>>6 

13) �4>E<<4?L=>5 EGF>G=>5 >>?<G5EF6> >E44>>6 

 

6.6 $56<< >F>5D465=<O <<=<<4?L=OE/<4>E<<4?L=OE 7=4G5=<= 

6.6.1 �46<<F5 MAX/MIN 4?O >F>5D465=<O <4>E<<G<>6 

 
 

- �46<<F5 >?46<LG &��$., GF>5O ?>E<>FD5FL <4>E<<G<O <=45>E4 F5<?5D4FGDO ?> >MGM5=<O<, <=45>E4 

64DO, F>G>< D>EO. 

- �46<<F5 >?46<LG RAIN, GF>5O ?>E<>FD5FL <4>E<<G<O >>?<G5EF64 4F<>ED5D=OE >E44>>6, >E44>>6 74 45=L, 
=545?N < <5EOF. 

- �46<<F5 >?46<LG WIND+, GF>5O ?>E<>FD5FL <4>E<<G<O E>>D>EF< 65FD4/?>DO6>6. 
- �46<<F5 < G45D6<64=F5 >?46<LG PRESSURE- 6 F5G5=<5 2 E, GF>5O ?>E<>FD5FL <4>E<<G<O 45E>?NF=>7> < 
>F=>E<F5?L=>7> 446?5=<O. 



 

 

 

23. 

6.6.2 �46<<F5 MAX/MIN 5MU D47 4?O >F>5D465=<O <<=<<G<>6 

 
 

- �46<<F5 >?46<LG &��$., GF>5O ?>E<>FD5FL <<=<<G<O <=45>E4 F5<?5D4FGDO ?> >MGM5=<O< < F>G>< D>EO. 

- �46<<F5 < G45D6<64=F5 >?46<LG PRESSURE- 6 F5G5=<5 2 E, GF>5O ?>E<>FD5FL <<=<<G<O 45E>?NF=>7> < 
>F=>E<F5?L=>7> 446?5=<O. 
�D<<5G4=<5: =46<<F5 < G45D6<64=F5 6 F5G5=<5 2 E5>G=4 >?46<LG MAX/MIN. 

�D<<5G4=<5: =46<<F5 >?46<LG MAX/MIN FD5F<= D47 <?< =46<<F5 LIGHT/SNOOZE 4?O 6>76D4F4 6 
=>D<4?L=O= D56<<. 
 

6.7 $56<< >4?<5D>6>< 

�46<<F5 < G45D6<64=F5 6 F5G5=<5 5 E5>G=4 >?46<L< &��$. < MAX/MIN, GF>5O 6>=F< 6 D56<< >4?<5D>6><. 

 
- �>E?>?L7G=F5EL >?46<L4<< WIND+ <?< PRESSURE- 4?O <7<5=5=<O 7=4G5=<O 6O5D4==>7> ?4D4<5FD4. 
- �46<<F5 >?46<LG SET 4?O ?>4F65D645=<O <7<5=5=<= < ?5D5E>44 > =4EFD>=>5 E?54GNM57> ?4D4<5FD4. 
- �46<<F5 >?46<LG ALARM 4?O ?5D5GEF4=>6>< ?N5>7> 7444==>7> 7=4G5=<O. 
- �46<<F5 LIGHT/SNOOZE 4?O 6OE>44 <7 D56<<4 =4EFD>=>< 6 ?N5>= <><5=F. 



 

 

 

24. 

6.7.1 �>DO4>> >4?<5D>6>< ?4D4<5FD>6 

1) $57G?OD=>5 E<5M5=<5 F5<?5D4FGDO 6 ?><5M5=<< (4<4?47>= D57G?<D>6>< +/-9 7D44GE>6 F; ?> G<>?G4=<N: 
0 7D44GE>6) 
2) $57G?OD=>5 E<5M5=<5 6?46=>EF< 6 ?><5M5=<< (4<4?47>= D57G?<D>6>< +-9%) 

3) $57G?OD=>5 E<5M5=<5 =4DG6=>= F5<?5D4FGDO (4<4?47>= D57G?<D>6>< +/-9 7D44GE>6 F; ?> G<>?G4=<N: 0 
7D44GE>6) 
4) $57G?OD=>5 E<5M5=<5 =4DG6=>= 6?46=>EF< (4<4?47>= D57G?<D>6>< +-9%) 

5) $57G?OD=>5 E<5M5=<5 45E>?NF=>= 65?<G<=O 4F<>ED5D=>7> 446?5=<O (4<4?47>= D57G?<D>6>< +/-10 7�4) 

6) $57G?OD=>5 E<5M5=<5 =4?D46?5=<O 65FD4 (D57G?<D>6>4 ?> 7D44GEG) 
7) $57G?<D>6>4 <=45>E4 F5<?5D4FGDO ?> >MGM5=<O<, ?> G<>?G4=<N 100% (4<4?47>= >F 50% 4> 150%) 
8) $57G?<D>6>4 >>?<G5EF64 >E44>>6, ?> G<>?G4=<N 100% (4<4?47>= >F 50% 4> 150%) 
 

 

6.8 �DG7<5 DG=>F<< 

6.8.1 %5D>E ?4D4<5FD>6/?5D5747DG7>4 

1) �D< 6>?NG5==>< ?<F4=<< =46<<F5 >?46<LG TEMP., GF>5O >F>474FLEO >F ?>?GG5=<O 44==OE E 44FG<>4 ?> 
55E?D>6>4=><G E>54<=5=<N. 
2) �D< 6>?NG5==>< ?<F4=<< =46<<F5 >?46<L< WIND+ < PRESSURE-, GF>5O ?5D5747DG7<FL <5F5>EF4=F<N, 
>G<EF<FL 6E5 74?<E< 6 ?4<OF< ?D<5>D4, < E5D>E<FL 6E5 ?>?L7>64F5?LE><5 ?4D4<5FDO 4> GEF4=>6?5==OE ?> 
G<>?G4=<N.  
3) �46<<F5 < G45D6<64=F5 6 F5G5=<5 5 E5>G=4 >?46<LG LIGHT/SNOOZE, GF>5O GEF4=>6<FL E6O7L E 
<=>7>DG=>F<>=4?L=O< 44FG<>>< (74=>6> 74D57<EFD<D>64FL 57> ?5D544FG<>). 

6.8.2 �>4E65F>4 4<E??5O (=5?D5DO6=4O ?>4E65F>4 4<E??5O FD55G5F 
D45>FO E 444?F5D>< ?<F4=<O) 

1) �D< D45>F5 E 444?F5D>< ?<F4=<O 

�46<<F5 >?46<LG LIGHT/SNOOZE, GF>5O >FD57G?<D>64FL OD>>EFL ��-4<E??5O HI/MID/OFF 

(�OE>>4O/%D54=OO/�O>?). 
2) �D< D45>F5 557 444?F5D4 ?<F4=<O 

�<E??5= ?5D5E>4<F 6 D56<< E=4, >F>?NG45FEO 57> ?>4E65F>4, 4 >?46<L< 4574>F<6<DGNFEO, 5E?< 6 F5G5=<5 15 
E5>G=4 =5 =464F4 =< >4=4 <7 E5=E>D=OE >?46<L. 
3) �46<<F5 >?46<LG LIGHT/SNOOZE 6 D56<<5 E=4 <?< ?>4>?NG<F5 444?F5D ?<F4=<O, GF>5O ?5D565EF< 
?D<5>D 6 4>F<6=O= D56<< (G45D6<64=F5 >?46<LG LIGHT/SNOOZE 4> ?>O6?5=<O ?>4E65F>< 4<E??5O). 

6.8.3 �=4<>4F<O FD5=4>6 <7<5=5=<O <7<5DO5<OE ?4D4<5FD>6 

- ED46=5=<5 44==OE E FDUEG4E>6O< ?47>< =4 ?>?GG4E>6>< <=F5D64?5 4=4?<74 

- =4?D<<5D: 44==O5 =4 3:00 ED46=<64NFEO E 0:00, =4 3:30 ED46=<64NFEO E 0:30, < F.4. 
�=4<>4F>D FD5=44  �?46=>EFL &5<?5D4FGD4  �46?5=<5 

 �>6OL5=<5 �>6OL5=<5 > 3% �>6OL5=<5 >= 

1C/2F 

�>6OL5=<5 > 1 7�4 

 �>EF>O=EF6> �7<5=5=<5 <= 3% �7<5=5=<5 < 1C/2F �7<5=5=<5 <= 17�4 

 �445=<5 �445=<5 > 3% �445=<5 >= 1C/2F �445=<5 < 1 7�4 

6.8.4 �=4<>4F>D GD>6=O 55E?D>6>4=>7> E<7=4?4 

�E?< >>=E>?L =5 ?>?GG45F =5<54?5==O= >F>?<> >F 44FG<>4, F> <=4<>4F>D GD>6=O 55E?D>6>4=>7> E<7=4?4 
E=<645FEO =4 >4<= GD>65=L: 



 

 

 

25. 

  
�445D6>4 >F>?<>4 ð 

ÿ �5<54?5==O= >F>?<> 

6.8.5 �D>7=>7 ?>7>4O: E>?=5G=>, ?5D5<5==4O >5?4G=>EFL, >5?4G=>, 4>64L, 
65F5D < E=57 

�E?< =4DG6=4O F5<?5D4FGD4 =<65 32 7D44GE>6 ?> $4D5=75=FG (0 7D44GE>6 &5?LE<O), F> ?D< ?D>7=>75 RAINY 

(4>64L) <?< STORMY (E<?L=O= 65F5D) =4 4<E??55 5G4GF >F>5D464FLEO ?<>F>7D4<<O SNOWY (E=57). 

 
%>?=5G=>   �5D5<5==4O >5?4G=>EFL  �5?4G=> 

 

  
 �>64L    %=57 

 

   
   �5F5D, 4>64L 

 



 

 

 

26. 

  
   �5F5D, E=57 

�D<<5G4=<5: �<>F>7D4<<4 E> E=57>< ?>O6?O5FEO 6<5EF> 4>64O ?D< F5<?5D4FGD5 <5=LL5 =G?O ?> &5?LE<N 
(32 7D44GE4 ?> $4D5=75=FG). 

6.8.6 �?>65M5=<O 

�D< FD56>6=>< ED454FO64=<< =46<<F5 LIGHT/SNOOZE, GF>5O ?D<>EF4=>6<FL 6O44GG FD56>6=>7> 
E<7=4?4/<=4<>4F<<, ?<5> =46<<F5 ?N5GN 4DG7GN >?46<LG 4?O ?>?=>= >EF4=>6>< E<7=4?4 FD56>7<. � 
D56<<5 ?D<>EF4=>6>< (?>E?5 =464F<O LIGHT/SNOOZE) FD56>6=O= E<7=4?/<=4<>4F<O 6O44NFEO >464O5 10 
<<=GF. 

7. &5E=<G5E><5 E4D4>F5D<EF<>< 
�=5 ?><5M5=<O 

$44<GE ?5D544G< E<7=4?4 ?D< >FEGFEF6<< ?><5E:    100 < (330 DGF>6) 

$45>G4O G4EF>F4 ?5D544FG<>4:     433M�F/868M�F/915 M�F 

�<4?47>= <7<5DO5<OE F5<?5D4FGD:    -40ÚC -- +60ÚC (14ÚF -- 140ÚF) 

&>G=>EFL:        +/- 1ÚC 

$47D5L5=<5:       0.1ÚC 

�<4?47>= <7<5D5=<O >F=>E<F5?L=>= 6?46=>EF<:    10% -- 99% 

&>G=>EFL:       +/- 5% 

�>?<G5EF6> >E44>>6:      0 3 6000 << E <=4<>4F<5= 6OE>44 74 

        7D4=<FO 4<4?47>=4 

&>G=>EFL:       +/- 10% 

$47D5L5=<5:       0.3 << (?D< >5NU<5 < 1000 <<) 

1 << (?D< >5NU<5 > 1000 <<) 

%>>D>EFL 65FD4:       0 - 50 </E (0-100<<?L/G) E <=4<>4F<5= 

6OE>44 74 7D4=<FO 4<4?47>=4 

&>G=>EFL:       +/-1 </E (?D< E>>D>EF< < 5 </E) 

+/-10% (?D< E>>D>EF< > 5 </E) 

�E65MU==>EFL:       0-400 >�N>E 

&>G=>EFL:       +/-15% 

�=F5D64? >5=>6?5=<O <7<5D5=<=:    16 E 

 

� ?><5M5=<< 

�<4?47>= <7<5DO5<OE F5<?5D4FGD:    -10ÚC -- +60ÚC (14ÚF -- 140ÚF) E <=4<>4F<5= 

6OE>44 74 7D4=<FO 4<4?47>=4 

$47D5L5=<5:       0.1ÚC 

�<4?47>= <7<5D5=<O >F=>E<F5?L=>= 6?46=>EF<:    10% -- 99% 

$47D5L5=<5:       1% 

�<4?47>= <7<5D5=<O 446?5=<O:      300 3 1100 7�4 (8.85-32.5 4.DF.EF) 

&>G=>EFL:        +/-3 7�4 ?D< 700-1100 7�4 

$47D5L5=<5:       0.1 7�4 (0.01 4.DF.EF) 

�?<F5?L=>EFL E<7=4?4 FD56>7<:     120 E 

 

�<F4=<5 

�47>64O EF4=F<O (>>=E>?L):     5� ?>EF F>>4 (444?F5D 6E>4<F 6 >><??5>F) 
<?< 3 54F4D5< AAA (=5 6E>4OF 6 >><??5>F) 

�O=>E=>= 44FG<>:      3 4>>G<G?OF>D4 AA (6E>4OF 6 >><??5>F) 



 

 

 

27. 

 

8. �>4>?NG5=<5 <>5<?L=OE GEFD>=EF6 ?> Wi-Fi 
�D< ?>4>?NG5=<< <>5<?L=>7> GEFD>=EF64 ?> Wi-Fi F5<?5D4FGD4 6 ?><5M5=<< =5 <7<5DO5FEO, < 6=GFD5==<= 
?5D544FG<> <>6=> 74<5=<FL. �D< D45>F5 E 6=5L=<< <>4G?5< ?> 55E?D>6>4=>= E6O7< =5>5E>4<<> ?<F4=<5 
>F 444?F5D4, 6 ?D>F<6=>< E?GG45 Wi-Fi =5 D45>F45F. 
'EFD>=EF6> ?>445D6<645F >5<5= 44==O<< ?> Wi-Fi c ?D<?>65=<O<< 4?O 4=4?<74 < G?D46?5=<O ?>7>4=O<< 
44==O<< E E<=ED>=<74F<5= ?> 6D5<5=< E5F< �=F5D=5F. �>445D6<64NFEO E?54GNM<5 E5D6<EO: 

a) wunderground 

b) weatherbug 

c) weathercloud. 

�D< ?5D6>= ?>44G5 ?<F4=<O =4 GEFD>=EF6> =4EFD>=>4< >>=E>?< 7444=O 7=4G5=<O ?> G<>?G4=<N, 6 
D57G?LF4F5 G57> GEFD>=EF6> 6E>4<F 6 D56<< 46F><4F<G5E>>= =4EFD>=>< ?>4>?NG5=<O > 55E?D>6>4=>= E5F<. 

�>>=>4 Wi-Fi 5G45F <<74FL, G>47O64O, GF> GEFD>=EF6> 5MU =5 5O?> ?>4>?NG5=> =< > >4=><G <7 4>EFG?=OE 

<4DLDGF<74F>D>6. 

 

 
 

�E?< GEFD>=EF6> 4>?6=> 5OFL ?>4>?NG5=> > <4DLDGF<74F>DG, =5>5E>4<<> D47D5L<FL DGG=GN =4EFD>=>G 
?4D4<5FD>6 ?>4>?NG5=<O > 55E?D>6>4=>= E5F<, 4?O G57> 6O?>?=<F5 =<65E?54GNM<5 45=EF6<O. 
�4=>6D5<5==> =46<<F5 >?46<L< RAIN < ALARM, < G45D6<64=F5 <E 6 F5G5=<5 4 E5>G=4. �>=E>?L 
?D<=G4<F5?L=> 74?GE>45F D56<< =4EFD>=>< 55E?D>6>4=>7> ?>4>?NG5=<O 6=GFD5==57> E5F56>7> <>4G?O. 

�>>=>4 Wi-Fi >?OFL =4G<=45F G4EF> <<74FL, GF> G>47O645F =4 74?GE> ?D>F5EE4 =4EFD>=>< ?4D4<5FD>6 
?>4>?NG5=<O > E5F<. 
1. �4?GEF<F5 ?D<?>65=<5 =4 �4L5< <>5<?L=>< GEFD>=EF65: WS Tool. 

2. �D<?>65=<5 E>4=<DG5F GEFD>=EF64, ?>4>?NGU==O5 > <4DLDGF<74F>DG. �46<<F5 «add device», GF>5O 
4>546<FL >>=E>?L > 64L5<G <4DLDGF<74F>DG.  
3. �654<F5 ?4D>?L 4>EFG?4 > <4DLDGF<74F>DG. �4764=<5 E5F< (SSID) 6E5744 E>6?4445F E <>5<?L=O< 
GEFD>=EF6><, ?>4>?NGU==O< > <4DLDGF<74F>DG, ?>MF><G 6O5>D SSID =54>EFG?5=. �46<<F5 Confirm, GF>5O 

74?GEF<FL ?D>F5EE >5<5=4 44==O<<. 

4. �>6>5 GEFD>=EF6> E >?D545?U==O< ID 4>546?5=>. �O55D<F5 <Easy Weather 3WIFIxxxx=, GF>5O 74?GEF<FL 

WU. 

5. �O55D<F5 < 74?GEF<F5 >4<= <7 ?>4>?NG5==OE ?>7>4=OE E5D65D>6. 
6. �>=4<F5 6 E6>N GGUF=GN 74?<EL ?>7>4=>7> E5D65D4 E ?><>MLN <<5=< ?>?L7>64F5?O < ?4D>?O. 

&5?5DL �4L4 <5F5>EF4=F<O ?>4>?NG5=4. �47DG7<F5 ?D<?>65=<5 WU, GF>5O ?>?GG<FL 4>EFG? > 44==O< 64L5= 
<5F5>EF4=F<<. 



 

 

 

28. 
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�4D4=F<O 1 7>4.

�D><76>4<F5?L: Amtast USA Inc, %,�
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